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Question Number : 1 Question Id : 630680222982 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Correct Marks : 1 Wrong Marks : 0

The movie RRR won an Oscar for which category in 20237

Options :

1 « Best Original Song

2. % DBest Picture

3. % Best International Feature Film

4. % Best Visual Effects

Question Number : 1 Question Id : 630680222982 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 2 Question Id : 630680222983 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0

Which international organization is responsible for issuing guidelines on health and safety at the workplace?

Options :

1 = World Trade Organization

> w United Nations Educational, Scientific and Cultural Organization

3« World Health Organization

4 % United Nations Environment Programme

Question Number : 2 Question Id : 630680222983 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 3 Question Id : 630680222984 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0

Which international organization is responsible for maintaining world peace and security and has 5 permanent members

with veto power?

Options :

1. % International Court of Justice

2 % International Criminal Court

3.  United Nations Security Council

4 w International Atomic Energy Agency



Question Number : 3 Question Id : 630680222984 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0
Correct Marks : 1 Wrong Marks : 0
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Question Number : 4 Question Id : 630680222985 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Correct Marks : 1 Wrong Marks : 0

Which of the following is an example of a regional intergovernmental organization in Southeast Asia that aims to

promote economic cooperation and integration among its member states?
Options :
1 = North Atlantic Treaty Organization (NATO)

> % African Union (AU)

3w European Union (EU)



4. Assoclation of Southeast Asian Nations (ASEAN)

Question Number : 4 Question Id : 630680222985 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Correct Marks : 1 Wrong Marks : 0
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Options :
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Question Number : 5 Question Id : 630680222986 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Correct Marks : 1 Wrong Marks : 0

Who was appointed as the first female president of the European Commission in 2019?

Options :

1 « Ursula von der Leyen



> % Angela Merkel

3 % Theresa May

4 % Christine Lagarde

Question Number : 5 Question Id : 630680222986 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0

20195 CHFENONAS AT IAE ree @STOT G AoHOTsE?

Options :

1. ¢ &)er 0 BD BSOS (Ursula von der Leyen)
9 % DOZer 04O (Angela Merkel)

3 % PO 30 (Theresa May)

4 % 8DS ©rd (Christine Lagarde)

Question Number : 6 Question Id : 630680222987 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Correct Marks : 1 Wrong Marks : 0

Which country won the gold medal in men's hockey at the 2020 Tokyo Olympics?

Options :



1. % India

2 % Australia

3 « Belgium

4. % Netherlands

Question Number : 6 Question Id : 630680222987 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0

2 T30 2020 §F: 2.0095)5 e % deriod 20 HesR) Tenthod?

Options :

| er8SDF0

, % RO

3 v BYAHO

4w SOTOHY

Question Number : 7 Question Id : 630680222988 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0



Which of the following is an example of a cereal crop commonly grown in India?

Options :
1.« Wheat
2. % Banana

3. % Potato

4. % Tomato

Question Number : 7 Question Id : 630680222988 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 8 Question Id : 630680222989 Option Shuffling : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction



Time: 0
Correct Marks : 1 Wrong Marks : 0

Which of the following initiatives was launched by the Government of India to provide affordable digital connectivity

and internet access to rural areas?

Options :

1« Digital India Programme

2 % Make in India Initiative
3 % Pradhan Mantri Jan Dhan Yojana

4 % BharatNet Project

Question Number : 8 Question Id : 630680222989 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 9 Question Id : 630680222990 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0

Which of the following initiatives was launched by the Government of India to promote a culture of innovation and

entrepreneurship in our country?
Options :

1 % Swachh Bharat Abhivan

2« Atal Innovation Mission

3 % Pradhan Mantri Fasal Bima Yojana

4 % Ayushman Bharat Yojana

Question Number : 9 Question Id : 630680222990 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 10 Question Id : 630680222991 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0

Which of the following initiatives was launched by the Government of India to encourage innovation and research in

the field of science and technology, especially among women?
Options:

1« Knowledge Involvement in Research Advancement through Nurturing (KIRAN scheme)
5> % Pradhan Mantri Jan Dhan Yojana

3. % Digital India Programme

4. % Make in India Initiative

Question Number : 10 Question Id : 630680222991 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 11 Question Id : 630680222992 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is a flagship program launched by the Government of India to provide free and compulsory

education to children between the ages of 6 and 14 years?
Options :

1 = Swachh Bharat Abhiyan

> w Digital India Programme

3 % Ayushman Bharat Yojana

4.« Sarva Shiksha Abhiyan

Question Number : 11 Question Id : 630680222992 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Correct Marks : 1 Wrong Marks : 0
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Question Number : 12 Question Id : 630680222993 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Correct Marks : 1 Wrong Marks : 0

Which of the following laws in India focuses on the protection of children from sexual offenses and provides for the

establishment of special courts for their speedy trial?

Options:

1 % Juvenile Justice Act. 2015

2 Protection of Children from Sexual Offences (POCSO) Act, 2012

3 » Right to Education Act, 2009

4 % Child Labour (Prohibition and Regulation) Act, 1986



Question Number : 12 Question Id : 630680222993 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Correct Marks : 1 Wrong Marks : 0
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Options:
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Question Number : 13 Question Id : 630680222994 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Correct Marks : 1 Wrong Marks : 0

Which of the following is a major social challenge faced by India, as highlighted by the National Crime Records
Bureau's (NCRB) 2021 report on Crime in India?

Options :

1.« Gender-based violence

2. % Child Labour



3 % Robbery

4. % Terrorism

Question Number : 13 Question Id : 630680222994 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 14 Question Id : 630680222995 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Correct Marks : 1 Wrong Marks : 0

Which of the following social security schemes in India is aimed at providing health insurance coverage to families

living below the poverty line?

Options :



1 % Pradhan Mantri Jeevan Jyoti Bima Yojana (PMJIBY)
Pradhan Mantri Fasal Bima Yojana (PMFBY)
3 % Pradhan Mantri Suraksha Bima Yojana (PMSBY)

4.+ Ayushman Bharat - Pradhan Mantri Jan Arogya Yojana (AB-PMJAY)

Question Number : 14 Question Id : 630680222995 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0
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Options :
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Question Number : 15 Question Id : 630680222996 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Correct Marks : 1 Wrong Marks : 0

Which of the following is a potential health risk associated with excessive screen time?
Options :

1 % Thyroid
5 « Increased risk of obesity

3 % Vitamin C deficiency

4. % Increased risk of asthma

Question Number : 15 Question Id : 630680222996 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 16 Question Id : 630680222997 Option Shuffling : Yes Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is a direct major cause of air pollution in cities and towns?

Options :

1« Burning of fossil fuels

> % Excessive use of plastic bags

3. % Improper waste disposal

4, % Deforestation

Question Number : 16 Question Id : 630680222997 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 17 Question Id : 630680222998 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Correct Marks : 1 Wrong Marks : 0

Which of the following is a serious public health concern associated with the excessive use of chemical fertilizers and

pesticides in agriculture?

Options :

1. # Increased risk of COVID-19

5> % High changes of Human immunodeficiency virus infection and acquired imnmne deficiency syndrome (HIV/AIDS)

3.« Neurological disorders

4. % Increased risk of malaria

Question Number : 17 Question Id : 630680222998 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 18 Question Id : 630680222999 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Correct Marks : 1 Wrong Marks : 0

Lizard comes under which category of animals?

Options :

1. % mammal
5  leptile

3 % amphibian

4. % fish

Question Number : 18 Question Id : 630680222999 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 19 Question Id : 630680223000 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Correct Marks : 1 Wrong Marks : 0

Which of the following organs is responsible for producing a hormone that regulates blood sugar in the human body?

Options :

1. % Liver

5 % Lungs

3 % Kidney

4.+ Pancreas

Question Number : 19 Question Id : 630680223000 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0

& (800 8BS 2 wdahiren Srds 18808 8808 ¥HED AokoBoT FHEw 8B
DODENE ardeeh Seraon?

Options :
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Question Number : 20 Question Id : 630680223001 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0

The haemoglobin is the in red blood cells carry oxygen to the body's tissues.

Options :
1 % carbohydrate
> % sugar

3.  brotein

4. % fat

Question Number : 20 Question Id : 630680223001 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 21 Question Id : 630680223002 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Correct Marks : 1 Wrong Marks : 0

Which of the following nutrients is essential for building strong bones and teeth?
Options:

1. % vitamin c

2.« calcium

3 % Iron

4 % Mmagnesium

Question Number : 21 Question Id : 630680223002 Option Shuffling : Yes Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 22 Question Id : 630680223003 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0

Which of the following biomes is characterized by a cold and dry climate, with low-growing vegetation such as mosses

and lichens?
Options:

1.+ Tundra

2 % Rainforest

3. % Grassland

4. % Desert



Question Number : 22 Question Id : 630680223003 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 23 Question Id : 630680223004 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is an example of a Maillard reaction that occurs during cooking in the kitchen?

Options:

1 « The browning of bread crust

5> % The melting of cheese on pizza



3 % The curdling of milk in a sauce

4 The separation of oil and vinegar in a salad dressing

Question Number : 23 Question Id : 630680223004 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 24 Question Id : 630680223005 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Correct Marks : 1 Wrong Marks : 0

Which of the following is an example of a physical vulnerability in a community?

Options :

1 % Lackof awareness about disaster preparedness



5> « Poor infrastructure and inadequate housing

3. # Limited access to healthcare services

4. % Social and economic inequality

Question Number : 24 Question Id : 630680223005 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 25 Question Id : 630680223006 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Correct Marks : 1 Wrong Marks : 0

Which of the following is an example of a structural mitigation measure for earthquake hazards?

Options:



1« Building codes and zoning regulations
> w Emergency response planning and evacuation procedures
3 % Education and public awareness campaigns

4 w Early warning systems and monitoring technologies

Question Number : 25 Question Id : 630680223006 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 26 Question Id : 630680223007 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0



Which of the following is an example of a disaster assessment application of remote sensing and GIS?
Options :

1« Mapping flood hazard zones using satellite imagery
5> % Providing water quality data after disaster
3 % Using helicopter to deliver emergency supplies to disaster zones

4 % Analysing social media data for disaster response planning

Question Number : 26 Question Id : 630680223007 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 27 Question Id : 630680223008 Option Shuffling : Yes Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0
Correct Marks : 1 Wrong Marks : 0

Which of the following is a primary source of air pollution?

Options :

1. # Floods

> % Agricultural activities

3.« Industrial emissions

4w Household cooking and heating

Question Number : 27 Question Id : 630680223008 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 28 Question Id : 630680223009 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Correct Marks : 1 Wrong Marks : 0

River Ganga, in India has been found to be one of the rivers in the world.

Options:

1. % shallowest

2. % smallest

3. # cleanest

4. ost polluted

Question Number : 28 Question Id : 630680223009 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0

rESTIOS R Hor 6 WNotoSR __ Sded 2868m Hdotados.

Options :
1 % QIO

> % OB DI

5w DO



4 v D308 NS

Question Number : 29 Question Id : 630680223010 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0

What is the difference between incoming solar radiation and outgoing terrestrial radiation called?

Options:

1 % Global warming
5> % Heatabsorption
3.« Radiative forcing

4 % Climate change

Question Number : 29 Question Id : 630680223010 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 30 Question Id : 630680223011 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0

Which of the following substances is primarily responsible for the depletion of the ozone layer in the Earth's

stratosphere?

Options:

1. % Carbon monoxide

> % Sulphur dioxide

3 Chlorofluorocarbons (CFCs)

4 % Nitrogen oxides

Question Number : 30 Question Id : 630680223011 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 31 Question Id : 630680223012 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is a major cause of deforestation in the world?

Options :

1 % Overgrazing by livestock

5> % Oill spills from offshore drilling

3 % Global warming

4« Clearing land for agriculture

Question Number : 31 Question Id : 630680223012 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 32 Question Id : 630680223013 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is a potential harmful effect of agro-chemicals on the environment?
Options :

1 % Increased soil fertility

5> % Improved plant growth

3 % Soil erosion prevention

4. Water pollution

Question Number : 32 Question Id : 630680223013 Option Shuffling : Yes Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 33 Question Id : 630680223014 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0

What is the role of chlorine in the depletion of the ozone layer?
Options :

1« It catalyzes the breakdown of ozone molecules

> w Itabsorbs UV radiation and prevents the formation of ozone

3 % Itreacts with oxygen to form ozone-depleting substances

4 % It decreases the temperature of the stratosphere and depletes ozone



Question Number : 33 Question Id : 630680223014 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 34 Question Id : 630680223015 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0

The summer monsoon in India is caused by:

Options :

1. % North-east trade winds

2.« South-west monsoon winds

3 % Cyclones



4. % Western disturbances

Question Number : 34 Question Id : 630680223015 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0
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Options :
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Question Number : 35 Question Id : 630680223016 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0

Which of the following natural resources is the primary source of energy in India?

Options :

1. % Petroleum

2« Coal



3. % Natural Gas

4 % Solar Energy

Question Number : 35 Question Id : 630680223016 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 36 Question Id : 630680223017 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Correct Marks : 1 Wrong Marks : 0

Which of the following statements about the Himalayas is NOT true?

Options:

1 % The Himalayas are the tallest mountain range in the world.



> w The Himalayas spread across five countries, including India.

3 % TheHimalayas were formed due to the collision of the Indian and Eurasian tectonic plates.

4« The Himalayas are primarily made up of sedimentary rocks.

Question Number : 36 Question Id : 630680223017 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 37 Question Id : 630680223018 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Correct Marks : 1 Wrong Marks : 0

Which of the following rivers in India has the largest drainage basin?

Options:



1 % Ganga-Yamuna
5> « Ganga-Brahmaputra-Meghna
3 % Narmada-Tapi

Indus-Sutluj

Question Number : 37 Question Id : 630680223018 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 38 Question Id : 630680223019 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0



Which of the following is a measure of literacy rate in India?

Options :

1 % The percentage of people who can read and write in English

5> « The percentage of people who can read. write and understand any language

3 % The percentage of people who can speak more than one language

4 % The percentage of people who have completed college education

Question Number : 38 Question Id : 630680223019 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 39 Question Id : 630680223020 Option Shuffling : Yes Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0

Read the following statements and choose the correct answer:;

Statement 1: Poverty is a condition where a person lacks the basic necessities of life, such as food, shelter, and clothing.

Statement 2: India is home to the largest number of poor people in the world.

Options :

1 % Only statement | is correct

> % Only statement 2 s correct

3.« DBoth statements 1 and 2 are correct

4. % Both statements | and 2 are incorrect

Question Number : 39 Question Id : 630680223020 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 40 Question Id : 630680223021 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0

Statement 1: Hinduism is the largest religion in India, with over 80% of the population following it.
Statement 2: Sikhism, founded in the 15th century, originated in the state of Punjab and is the fifth-largest religion in
India.

Which of the following options is correct?

Options :

1.+ Both statements are true

2 % DBoth statements are false

3 % Only statement 1 is true

4 % Only statement 2 is true

Question Number : 40 Question Id : 630680223021 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Correct Marks : 1 Wrong Marks : 0
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Options :

|« 0O [DELden Hebs0

5 % D0 |DEL0ED 0S50

3 % WOBOD 1 Sread dedgo

4 % D3OS 2 S Hebso

Question Number : 41 Question Id : 630680223022 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0

Which of the following statements is true about unemployment in India?
Statement 1: India has the highest unemployment rates in the world.
Statement 2; The primary cause of unemployment in India is the lack of education and skill development among the

workforce.

Options:

1 % Only statement 1 is true

2 Only statement 2 is true



3. % Both statements are true

4. % Neither statement is true

Question Number : 41 Question Id : 630680223022 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 42 Question Id : 630680223023 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0



Which of the following statements is/are correct about agriculture and infrastructure in India?

Statement 1: India s primarily an agricultural country with the majority of the population engaged in farming.
Statement 2: Infrastructure, such as transportation and communication networks, do not help in the development of
agriculture and boost economic growth,

Options :

1. # Both statements are true

2. % Both statements are false

3 Only statement 1 is true

4 % Only statement 2 is true

Question Number : 42 Question Id : 630680223023 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Correct Marks : 1 Wrong Marks : 0

rEBT308 S5rah0 nBa FOLGTATeH K020800 & 1§08 (NS I
A $BS?

D80 1: 2rdSDI0 DO Harah B0, 2046 o8¢ 2T HNroho Palagy
ST Hod.

800 2 Ot SHBA LirtdEAS TONGen 08 STOF deralren dgdaral
92y @8 0O @0 $HB DOWEVS HeFNe).

Options:

| % COC® [HELden OS50

, x OO0 [DEVED S50



3 v D8O 1 Sread deg0

4w D3OS 2 Sr@aD debso

Question Number : 43 Question Id : 630680223024 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0

Which of the following statements s true regarding Power and Energy and Trade and Industry in India?
Statement 1: India is one of the largest producers of coal in the world.
Statement 2: According to the 2022 Multidimensional Poverty Index Report, India is one of the top importers of

information technology and software services in the world.
Options:

1 « Only statement 1 is true

> % Only statement 2 is true

3. % Both statements are true

4. % Neither statement is true

Question Number : 43 Question Id : 630680223024 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 44 Question Id : 630680223025 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Correct Marks : 1 Wrong Marks : 0

Which of the following options is correct?

Statement 1: The Golden Quadrilateral s an important highway network in India that connects the major cities and ports

of the country.

Statement 2: The introduction of the National Optical Fibre Network (NOFN) has revolutionized communication in
rural India.

Options :

1 = Both statements are related to transportation and communication.

5« Statement | is related to transportation while statement 2 is related to communication.



3 % Statement | is related to communication while statement 2 is related to transportation,

4 w Both statements are unrelated to transportation and communication.

Question Number : 44 Question Id : 630680223025 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 45 Question Id : 630680223026 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0



Which of the following statements are true about the Directive Principles of States Policy?
Statement 1: Directive Principles of State Policy are non-justiciable in nature.

Statement 2: The Directive Principles of State Policy are enshrined in Part IV of the Indian Constitution.

Options :

1. Both statements are true

2. % DBoth statements are false

3 % Only statement 1 is true

4 % Only statement 2 is true

Question Number : 45 Question Id : 630680223026 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0
Correct Marks : 1 Wrong Marks : 0
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Question Number : 46 Question Id : 630680223027 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Correct Marks : 1 Wrong Marks : 0

Statement |: Fundamental duties were added to the Indian Constitution by the 44th Amendment in 1978.
Statement 2; Fundamental duties are enforceable by law and any violation can be punished by the judiciary.
Choose the correct answer:

Options :

1 % Only statement 1 is true

> % Only statement 2 is true

3. % Both statements are true

4. + Neither statement is true

Question Number : 46 Question Id : 630680223027 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 47 Question Id : 630680223028 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Correct Marks : 1 Wrong Marks : 0

Read the following statements and choose the correct answer:
Statement |: Fundamental rights are enshrined in Part III of the Constitution of India.

Statement 2: Right to education is not a fundamental right in India.

Options :

1. % Both statements are true

o5  Statement | is true, statement 2 is false

3 % Statement 1 is false, statement 2 is true

4. % Both statements are false

Question Number : 47 Question Id : 630680223028 Option Shuffling : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction



Time: 0
Correct Marks : 1 Wrong Marks : 0
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Question Number : 48 Question Id : 630680223029 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Correct Marks : 1 Wrong Marks : 0

Which of the following statements regarding Indian citizenship is/are correct?

1. Indian citizenship can be acquired through birth, descent, registration, or naturalization.

2. Persons born on Indian soil are automatically considered Indian citizens.

3. The Citizenship Amendment Act (CAA) of 2019 provides a path to citizenship for Hindu, Sikh, Buddhist, Christian,

Parsi, and Jain illegal immigrants from Pakistan, Bangladesh, and Afghanistan who entered India before December 31,

2014,

4, The Constitution of India allows for dual citizenship, wherein a person can be a citizen of India as well as another

country.

o

Options :

1 = Statements 1 and 2 only



5  Statements 1, 2 and 3 only
3 % Statements 1. 2, and 4 only

4 % Statements 2 and 3 only

Question Number : 48 Question Id : 630680223029 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 49 Question Id : 630680223030 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Correct Marks : 1 Wrong Marks : 0

Which of the following statements related to the Executive in the Indian political system is/are correct?

1. Executive power of the Union is vested in the President.

2. The Mayor of a State heads the Chief Minister and Council of Ministers of the executive branch at the State level.

3. The Union executive consists of the President, the Vice-President, and the Council of Ministers with the Prime

Minister as the head.

4, The chief minister acts as the nominal head whereas the real power lies with the governor of the state.
Options:

1 % land2only

5  land3only

3 % 2and4only

4 % 3and4only

Question Number : 49 Question Id : 630680223030 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 50 Question Id : 630680223031 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0

Which of the following statements related to the Judiciary system in India are correct?

1. The Supreme Court of India is the highest judicial authority in the country.

2. The judiciary in India is independent of the executive and legislative branches of the government.

3. The Chief Justice of India is appointed by the President of India on the advice of the Prime Minister.

4. The Indian Judiciary follows the common law system.
Options:

1 % Statements 1 and 2 only



> % Statements 1, 2 and 3 only
3. ¢ Statements 1. 2, and 4 only

4 % Statements 2 and 3 only

Question Number : 50 Question Id : 630680223031 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 51 Question Id : 630680223032 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Correct Marks : 1 Wrong Marks : 0

Consider the following statements regarding Parliament under the Union and State Government of India:

A. The Parliament of India consists of the President, Lok Sabha and Rajva Sabha.

B. The legislative assembly is the lower house of the state legislature in every state of India.

C. The Lok Sabha members are directly elected by the people of India.

D. The Governor of a state can nominates one member to the Rajya Sabha from the state.

Which of the following combinations is/are correct?
Options :

1« A.Band Conly

A, Cand D only

3 % Band Conly

4 % AB.C and D

Question Number : 51 Question Id : 630680223032 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 52 Question Id : 630680223033 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0

Which of the following statements about State Executive under Union and State Government of India is/are correct?
A) The Governor is the head of the State Executive and is appointed by the President of India.

B) The Chief Minister is the head of the State Executive and is elected by the people of the state.

C) The State Executive is responsible for implementing the laws and policies of the state government.

D) The State Executive is responsible for conducting elections in the state.

Options :

1 = OnlyAandB



5 « OnlyBandC
3 % OnlyA. B.andC

4 % AB.C and D

Question Number : 52 Question Id : 630680223033 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 53 Question Id : 630680223034 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0

Choose the correct combination of statements related to the State Legislature under the Union and State Government of

India:

. The State Legislature consists of the Governor and the Legislative Council.

2, The Legislative Assembly is the lower house of the State Legislature.

3. The maximum strength of the Legislative Assembly is determined by the size of the state's population.

4. The term of the Legislative Assembly is five vears, unless dissolved earlier.

Options :

1. % Statements 2 and 3 are correct

2« Statements 2 and 4 are correct

3 % Statements 1, 2, and 3 are correct

4 % Statements 2, 3, and 4 are correct

Question Number : 53 Question Id : 630680223034 Option Shuffling : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Correct Marks : 1 Wrong Marks : 0
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Options:
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4 % (DZO0ED 2, 3, O 4 DB

Question Number : 54 Question Id : 630680223035 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0

Which of the following statements is related to the Institutions and Policies under Local Governments in India are\is

correct?

1. The Panchayati Raj system is a three-tiered system of local governance in India.

2. Municipal Corporations are responsible for the administration of urban areas in India.

3. The Ministry of Home Affairs is responsible for the implementation of local government policies in India.

4, The State Election Commission is responsible for conducting elections to local government bodies in India.
Options :

1 = lonly



> % 2and4only
3 % 1land4only

4 1. 2and 4 only

Question Number : 54 Question Id : 630680223035 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 55 Question Id : 630680223036 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0

Match the following terms related to the Political System under Local Governments of India:

1.Panchayat A. Head of a Municipal Corporation

2.Municipal Corporation | B. Head of a Panchayat

3.Mayor C. Local government body for towns and cities

4.Sarpanch D. Local government body for villages and small towns
Options:

| % 1-B.2-C.3-A,4D

, % 1-A,2-C,3-D,4-B

3 v 1-D.2-C.3-A. 4-B

4 % 1-D,2-A,3-C,4-B

Question Number : 55 Question Id : 630680223036 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0
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Options:

| % 1-B, 2-C, 3-A, 4-D

> % 1-A, 2-C, 3-D, 4-B

3 « 1-D, 2-C, 3-A, 4-B

4 % 1D, 2-A, 3-C, 4-B

Question Number : 56 Question Id : 630680223037 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Correct Marks : 1 Wrong Marks : 0

Match the following structures of Local Governments in India with their respective levels:

1. Gram Panchayat (a) District Level
2. Zilla Parishad (b) Village Level
3. Municipal Corporation | (c) Block Level
4. Mandal Parishad (d) Urban Level

Options:

| v 1-B.2-A,3-D. 4-C

, % 1-A,2-B,3-D,4-C



3 % 1-B,2-A,3-C,4-D

4 % 1-C.2-A.3-D, 4-B

Question Number : 56 Question Id : 630680223037 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Correct Marks : 1 Wrong Marks : 0
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Options :

1« 1-B, 2-A, 3-D, 4-C

5 % 1-A, 2-B, 3-D, 4-C

3 % 1-B, 2-A, 3-C, 4D

4 % 1-C, 2-A, 3-D, 4-B

Question Number : 57 Question Id : 630680223038 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Correct Marks : 1 Wrong Marks : 0



Match the following Acts and Policies with their respective descriptions:

1. Indian Independence Act A. Policy of non-cooperation with British

2. Government of India Act, 1935 | B. Act that granted India Dominion status

3. Swadeshi Movement C. Act that provided for the establishment of provincial autonomy

4. Quit India Movement D. Mass civil disobedience movement against British rule
Options:

| % 1-C.2-B.3-D.4-A

, % 1-B.2-A,3-C,4-D

3 v 1-B.2-C.3-A,4-D

4 % 1-C.2-D,3-A, 4B

Question Number : 57 Question Id : 630680223038 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0
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Options :

| % 1-C, 2B, 3-D, 4-A

> % 1-B, 2-A, 3-C, 4-D



5 » 1-B, 2-C, 3-A, 4D

4 % 1-C, 2D, 3-A, 4-B

Question Number : 58 Question Id : 630680223039 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Correct Marks : 1 Wrong Marks : 0

Match the following events with their correct description in Modern History of India:

1.Jallianwala Bagh Massacre | A. Non-Cooperation Movement

2. Partition of Bengal B. Formation of Indian National Congress

3. Champaran Satyagraha C. Dividing Bengal into two provinces

4. Swadeshi Movement D. Brutal killing of peaceful protestors in Amritsar
Options:

| % 1-C.2-A,3-D.4-B

> % 1-B,2-A,3-C, 4D

3 % 1-B.2-C.3-A,4-D

4 v 1-D.2-C.3-A.4-B

Question Number : 58 Question Id : 630680223039 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1. % 1-C, 2-A, 3-D, 4-B

, % 1-B, 2-A, 3-C, 4-D

5 % 1-B, 2-C, 3-A, 4D

4.« 1-D, 2-C, 3-A, 4-B

Question Number : 59 Question Id : 630680223040 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0

Match the following key groups and institutions with their respective roles during India's struggle for independence:

1. Indian National Congress A. Fought for the rights of women and supported the Quit
India Movement

2. Muslim League B. Worked to secure Muslim political representation and
initially opposed the Quit India Movement

3. All India Women's Conference | C. Fought for Indian independence from British rule and
initially advocated for nonviolent resistance

4, Indian National Army D. Formed by Indian soldiers in Southeast Asia with the
aim of overthrowing British colonial rule

Options :

| v 1-C.2-B.3-A,4-D



% 1-B,2-C,3-A,4-D

3 % 1-D.2-B.3-A,4-C

4 % 1-A,2-B,3-C,4-D

Question Number : 59 Question Id : 630680223040 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1.« 1-C, 2-B, 3-A, 4-D

, % 1-B, 2-C, 3-A, 4D

5 % 1-D, 2B, 3-A, 4-C



4 % 1-A, 2-B, 3-C, 4-D

Question Number : 60 Question Id : 630680223041 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Correct Marks : 1 Wrong Marks : 0

Choose the correct pair of the key personality and their respective contributions to the Indian independence movement.

1. Mahatma Gandhi; Advocate of Swadeshi

2. Subhas Chandra Bose: First Prime Minister of India

3. Jawaharlal Nehru: Headed quit India movement
4, Bal Gangadhar Tilak: Leader of the Indian National Army

Options :

1« Only 1

> % Only3and4

3 % Only land2

4 % Only land3

Question Number : 60 Question Id : 630680223041 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0
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| 1 TS

5 % 3 00aM 4 S

3 % 1 0L 2 S

4 % 108D 3 S

Question Number : 61 Question Id : 630680223042 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0

Select the correct pair of Socio and Religious Reform Movements with their respective founders:

1. Brahmo Samaj; Swami Dayananda Saraswatl

2. Prarthana Samaj: Dr. Atmaram Pandurang

3. Theosophical Society: Annie Besant
4. Arya Samaj: Ram Mohan Roy

Options :

1 % Only2and4



> % Only3and4
3  Only2and3

4 % Only land4

Question Number : 61 Question Id : 630680223042 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 62 Question Id : 630680223043 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0
Correct Marks : 1 Wrong Marks : 0

Pick the correct pair of group with its respective founding vear:

1. Indian National Congress- 1906

I

. Self Respect Movement- 1925
3. All India Muslim I eague- 1885
4. Scheduled Castes Federation- 1942

Options :

1 % Onlyland4

> % Only2

3 « Only2and4

4 % Only3and4

Question Number : 62 Question Id : 630680223043 Option Shuffling : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Correct Marks : 1 Wrong Marks : 0
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Options :



1 08a 4 Srehad

5 % 2 S

3 o 2 08a 4 S|

4 % 3 0BA™ 4 S

Question Number : 63 Question Id : 630680223044 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0

Select the correct pair of key groups and institutions in modern Indian history with their respective founders/leaders:
1. All India Women's Conference: Annie Besant

2. Arya Samaj: Dayananda Saraswati

3. Muslim League: Syed Ahmad Khan

4. Indian National Congress: Subhash Chandra Bose
Options :

1 « Only 1. 2and3

5 % Only2

3 % Only2and3

4 % Only4



Question Number : 63 Question Id : 630680223044 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0
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Options :
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Question Number : 64 Question Id : 630680223045 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0



Pick the correct Fiscal Policy measures with their descriptions:
1. Goods and Services Tax- A tax paid by individuals and businesses indirectly to the government based on their income

or profits.

2. Direct Tax- A tax on goods and services that is collected by an intermediary such as a seller or retailer,
3. Indirect Tax- A comprehensive tax reform that replaced multiple indirect taxes with a single tax system.
4, Fiscal Deficit- The negative difference between a government's total revenue and its total expenditure.

Options :

1 % Only2and4
> % Onlyl

3 « Only4

4 % Only land3

Question Number : 64 Question Id : 630680223045 Option Shuffling : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 65 Question Id : 630680223046 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0

Choose the correct pair of government schemes with their objectives
1. National Rural Livelihood Mission (NRLM): To transform India into a digitally empowered society and knowledge

economy
2 Pradhan Mantri Mudra Yojana (PMMY'); To empower the rural poor through skill development and livelihood

generation
3.Pradhan Mantri Fasal Bima Yojana (PMFBY): To provide affordable insurance coverage and financial support to

farmers in the event of crop failure
4 Digital India: To empower the rural poor through skill development and livelihood generation

Options :

1  Only3

> % Only2and3
3 % Only4

4 % Only land?2



Question Number : 65 Question Id : 630680223046 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0
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Options :
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Question Number : 66 Question Id : 630680223047 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0



Arrange the following events related to India's liberalization and economic reforms in chronological order.
A. Introduction of the New Economic Policy (liberalization and privatization)

B. Implementation of Goods and Services Tax (GST)

C. Nationalization of the Imperial Bank of India

D. The establishment of the Securities and Exchange Board of India (SEBI)

Options :

1\;2 C-.D-.A.B

2. ® B.A.D.C

3. W’ 151._ B... D. Cx

4. i’ B.A.C.D

Question Number : 66 Question Id : 630680223047 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0
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5 % A B D C

4 % B, A C D

Question Number : 67 Question Id : 630680223048 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Correct Marks : 1 Wrong Marks : 0

Arrange the following events in increasing order based on the timeline of Privatisation in India:

A. Privatisation of Maruti Udyog Limited

B. Privatisation of Bharat Aluminium Company

C. Privatisation of Hindustan Zinc Limited

D. Privatisation of Air India

Options :

1 % D.B.A.C

, % B.C.D.A

5 v AB.C.D

4 % B.AD.C

Question Number : 67 Question Id : 630680223048 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0
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Options:

1 % D, B A C

, % B, C, D, A

5+ A B C D

4 % B, A D C

Question Number : 68 Question Id : 630680223049 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0

Given below are the main focus areas of the Five Year Plans. Recall the order of their implementation and arrange them
in chronological order.

A, Self-reliant and self-generating India

B. Rehabilitation of refugees

C. Industrialization

D. Garibi Hatao/removal of poverty

Options:

1 % ADCB



, » D.A.C.B

;v B.C.AD

4 % A C.D.B

Question Number : 68 Question Id : 630680223049 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0
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Options :
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5 v B C A D

4 % A C, D B



Question Number : 69 Question Id : 630680223050 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0

Arrange the following in chronological order based on their establishment dates:
A. Reserve Bank of India (RBI)

B. Indian Institute of Foreign Trade (IIFT)

C. Indian Institute of Management (IIM) Ahmedabad

D. Hindustan Aircraft Limited (HAL) [now known as Hindustan Aeronautics Limited]

Options :

| v AD.C.B

, « D.B.A.C

5 %« AC.D.B

4 % D.C.B.A

Question Number : 69 Question Id : 630680223050 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 70 Question Id : 630680223051 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0

Arrange the following events in chronological order based on their timeline of implementation in India:

A. Introduction of HYVP (High-Yielding Variety Programme)

B. The Advisory Board for the Imperial Council of Agricultural Research (ICAR) plans India's participation in the UN
FAO

C. The Great Bengal Famine occurs

D. First Five-Year Plan

Options :

| « AD.C.B

, %« A,C.B.D

3 % B.A.D.C

4 v C.B.D.A



Question Number : 70 Question Id : 630680223051 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1 % A D C B

Question Number : 71 Question Id : 630680223052 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Correct Marks : 1 Wrong Marks : 0

Arrange the following events in chronological order related to the Green Revolution in India:

A. Introduction of the high-yielding, disease-resistant variant of wheat from Mexico

B. Launch of the National Agricultural Extension Project (NAEP)

C. Norman Borlaug visited India
D. Implementation of the Intensive Agriculture District Program (IADP)



Options :

1 ® B.CLAD

, x B.D,C.A

;v D.C.AB

4 % AB.C.D

Question Number : 71 Question Id : 630680223052 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0

BT30S P08 TG 020807 & (808 HoHaves FOZiIMRS0 @80k

A DT 0b 908 ARENTY, TO-00GES EORS Fnd Solitio HBdaho
B. 99 @[i8e)88 J8IBNS (72§ (NAEP) (80850

C. 88 ST r88D) 0880w

D. 90T )5 &% T (ADP) eaen

J

Options:
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Question Number : 72 Question Id : 630680223053 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0

Match the following events related to social exclusion and rights issues in India in chronological order:

A. Abolition of untouchability

B. The passing of Prevention of Atrocities Act

C. The passing of the Protection of Civil Rights Act

D. The establishment of the National Commission for Women

Options :

| v AC.B.D

, % B.C.AD

5 % AB.C.D

4 » C.D.A.B

Question Number : 72 Question Id : 630680223053 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Correct Marks : 1 Wrong Marks : 0
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1« A C B D

5 % B, C, A D

3 % A B C D

4 % C, D A B

Question Number : 73 Question Id : 630680223054 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0

Arrange the following policies in the order of their implementation for inclusive development in India:
A. National Rural Employment Guarantee Act (NREGA)

B. Right to Education Act (RTE)

C. Sarva Siksha Abhiyan (SSA)

D. Scheduled Castes and Scheduled Tribes (Prevention of Atrocities) Act

Options :

1. W’ C.A-.D.B

2' i’ D-_A-.C.B



; v D.C.AB

4 % B.CLAD

Question Number : 73 Question Id : 630680223054 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0
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Options :
1% C A D B
> % D A C B

5 D C A B

4 % B C A D

Question Number : 74 Question Id : 630680223055 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Correct Marks : 1 Wrong Marks : 0

Arrange the following policies related to inclusive development in India in chronological order:
A. Indira Awaas Yojana

B. National Food Security Act

C. Protection of Civil Rights Act

D. National Policy for Empowerment of Women

Options :

1 = C.D.A.B

, ® B.A.C,D

; % B.D.C.A

4 v C.A.D.B

Question Number : 74 Question Id : 630680223055 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 75 Question Id : 630680223056 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Correct Marks : 1 Wrong Marks : 0

Arrange the following events related to disability rights in India in chronological order:

A. The Persons with Disabilities Act

B. India signed the United Nations Convention on the Rights of Persons with Disabilities
C. The National Trust for the Welfare of Persons with Autism, Cerebral Palsy, Mental Retardation and Multiple

Disabilities Act
D. The Accessible India Campaign

Options:
1. %= CCD.AB
> % D.,A,C.B

5 v AC,B.D

4 % B.C.AD

Question Number : 75 Question Id : 630680223056 Option Shuffling : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Correct Marks : 1 Wrong Marks : 0
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Options :

1 % C D A B

Question Number : 76 Question Id : 630680223057 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Correct Marks : 1 Wrong Marks : 0

Telangana State has an approximate area of:

Options :

| % 2.12,077 km?

5 % 2.19.077 km?



3 v 112,077 km’

4 % 1.19.077 km?

Question Number : 76 Question Id : 630680223057 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Correct Marks : 1 Wrong Marks : 0

B0 T7 R V0 sSTErT:

Options:

1 % 212,077 km?

5> % 2,19,077 km?

3« 112,077 km?

4 % 1,198,077 km?

Question Number : 77 Question Id : 630680223058 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0

Which district among the following has the highest number of schools in the Telangana state as per Telangana Statistical
Abstract 20217

Options :

1. % Nirmal



5>  Hyderabad

3 % Rangareddy

4 w Jayashankar

Question Number : 77 Question Id : 630680223058 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Correct Marks : 1 Wrong Marks : 0
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Options:

| w ABO

5 ¢ SOT2TD

3 % SO

4 % 2004080

Question Number : 78 Question Id : 630680223059 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Correct Marks : 1 Wrong Marks : 0



Which of the following statements about the Telangana state is/are NOT correct?

A. It is surrounded by Karnataka in the West.
B. It is surrounded by Maharashtra in the East.

C. There are 32 Zilla Praja Parishads in Telangana state as on 2022.
Options :

1 = OnlyA
> « OnlyB

3. % AandB

4. % BothB and C

Question Number : 78 Question Id : 630680223059 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0
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Options :

| % A SIS

, » B @D

3 % A 00 B



4 % B O3 € Bodar

Question Number : 79 Question Id : 630680223060 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Correct Marks : 1 Wrong Marks : 0

The Kakativa Thermal Power Station (KTPP) is located in which of the following districts of Telangana state?

Options :

1 % Siddipet

> w Jagitial

3. % Mahabubabad

4 Warangal

Question Number : 79 Question Id : 630680223060 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0
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3 % eNerATer2rh
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Question Number : 80 Question Id : 630680223061 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0

Defence Service training institute, Indian Air Foree Academy, Dundigal, is located in which of the following districts of

Telangana?
Options :

1« Medchal-Malkajgiri

> % Hyderabad

3 % RangaReddy

4. % Vikarabad

Question Number : 80 Question Id : 630680223061 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 81 Question Id : 630680223062 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Correct Marks : 1 Wrong Marks : 0

Asof April 2023, who is the Minister for Agriculture of Telangana?

Options :

1 % Vemula Prashanth Reddy

> % Chamakura Malla Reddy

3. % Thanneeru Harish Rao

4« Singireddy Niranjan Reddy

Question Number : 81 Question Id : 630680223062 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 82 Question Id : 630680223063 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Correct Marks : 1 Wrong Marks : 0

Which of the following statements is/are INCORRECT?

A, Beechupally Anjaneva Swamy Temple is located on the banks of river Krishna in the Narayanpet district of
Telangana.

B. Lakshmi Narasimha Temple is located in a cave on a knoll in the Yadadri Bhuvanagiri district of Telangana.

C. Saidani Ma Tomb, located in Hyderabad.
Options:

1 « OnlyA

> % OnlyB

3 % BothAandB



4. % BothBand C

Question Number : 82 Question Id : 630680223063 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 83 Question Id : 630680223064 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Correct Marks : 1 Wrong Marks : 0

Perini Sivathandavam or Perini Thandavam dance of Telangana state used to be performed by which of the following
groups of people?



Options :

1. % Clerics

5 % Storyteller

3. % Farmers

4.« Warriors

Question Number : 83 Question Id : 630680223064 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0
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Options:
1 % TSN
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Question Number : 84 Question Id : 630680223065 Option Shuffling : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction



Time: 0
Correct Marks : 1 Wrong Marks : 0

Match the ancient poet of Telangana state and their literary work as per the details given below.

Poet Literary Work
A | Gona Budda Reddy | I | Basava Purana

B | Palkuriki Somanatha | 2 | Ranganatha Ramayanamu

C | Bammera Pothana | 3| Andhra Maha Bhagavatamu

Options :

| % A-1.B-2.C-3

5 % A-3,B-2,C-1

3 % A-3,B-1,C-2

4 v A2.B-1.C3

Question Number : 84 Question Id : 630680223065 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Correct Marks : 1 Wrong Marks : 0
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Options :

| % A1, B2, C3

5 % A3, B2, C-1

3 % A3, B-1, C-2

4 v A2, B-1, C-3

Question Number : 85 Question Id : 630680223066 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Correct Marks : 1 Wrong Marks : 0

Kamlesh D Patel received Padma Bhushan 2023 in the category of:

Options:

1« Others-Spiritualism

2 % Public Service

3. % Public Affairs

4. % Literature and Education

Question Number : 85 Question Id : 630680223066 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0



Correct Marks : 1 Wrong Marks : 0
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Question Number : 86 Question Id : 630680223067 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Correct Marks : 1 Wrong Marks : 0

Which of the following are unique arts of Telangana state in which silver is engraved on metal and then black, gold, and

silver coatings are applied?
Options :

1. % Nirmal Arts

2 % Dokra Metal Crafts

3 % Banjara Needle Crafts

4.+ Bidri Craft



Question Number : 86 Question Id : 630680223067 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0

Booma T8 Fod & (800 o HEE &S §iron F06E B, Send, a0mdo,
306 o) oJONANTON?

Options :

1w O8O ey
- &5 DD (5D

L & DO QGO (592

4o DO 15

Question Number : 87 Question Id : 630680223068 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0

Who among the following Indian poets and revolutionary balladeers from Telangana state is popularly known as
Gaddar?

Options :

1. % Goreti Venkataiah

5> % Suddala Ashok Teja

3.« Gummadi Vittal Rao



4. % Kanukuntla Subhash Chandrabose

Question Number : 87 Question Id : 630680223068 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 88 Question Id : 630680223069 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0

In which of the following festivals of Telangana state, do women prepare Bonam (brass pot) filled with milk, jaggery

and cooked rice and perform special pujas for Mahakali Amma?

Options :

1. # Bathukamma Festival



2.« Bonalu Festival

3. % Dussehra

4 % Ugadi

Question Number : 88 Question Id : 630680223069 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 89 Question Id : 630680223070 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0

An important Buddhist excavation site "Nelakondapalli" is located in which of the following districts of Telangana?

Options :



1.+ Khammam

2 % Bhadradri
3 % Suryapet

4 % Nalgonda

Question Number : 89 Question Id : 630680223070 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1 ¢ WoAZ0

5 % P

3 % QTP

4 Q0
Question Number : 90 Question Id : 630680223071 Option Shuffling : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Correct Marks : 1 Wrong Marks : 0

Which of the following dishes of Telangana state is also known as Tapala Chekka or Ginne Appa?

Options :

1 = Garijalu

> % SajjaRotte

3. # Pacchi Pulusu

4.« Sarva Pindi

Question Number : 90 Question Id : 630680223071 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 91 Question Id : 630680223072 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0

Which of the following schemes of Telangana state aims to provide safe drinking water for every household under the

Telangana Drinking Water Supply Project?

Options :

1. % Mission Amrutum

5 % Mission Narmada

3 Mission Bhagiratha

4. % Mission Yeshasvini

Question Number : 91 Question Id : 630680223072 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0
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4 % HS 0D

Question Number : 92 Question Id : 630680223073 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Correct Marks : 1 Wrong Marks : 0

Which of the following statements about Telangana Super Thermal Power Project is CORRECT?

A Telangana Super Thermal Power Project (TSTPP) is located in village Ramagundam, Karimnagar district, Telangana.
B. Prime Minister Narendra Modi laid the foundation for this project in 2019.

C. The project is being developed in two phases, with the under-construction first phase comprising 1.6GW (2x800MW)

coal-based power plant with super critical technology.
Options :
Only A

1. %

5  BothAand C

3 % Both AandB

Question Number : 92 Question Id : 630680223073 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 93 Question Id : 630680223074 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Correct Marks : 1 Wrong Marks : 0

Match the scheme launched by Telangana state and their launching vear as per the details given below.

Scheme Lunching Year
A | Kalyana Lakshmi — Shaadi Mubarak scheme | [ | 2014
B | Double bed room housing Scheme 212015
C | Kanti Velugu 312018
Options :

| v A-1,B-2,C-3

5 % A-3,B-2,C-1



3 % A-2.B-1.C3

4 % A3,B-1,C-2

Question Number : 93 Question Id : 630680223074 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1 v A1, B2, C-3

5, % A3, B2, C-1

5 % A2, B-1, C-3

4 % A3, B-1, C-2

Question Number : 94 Question Id : 630680223075 Option Shuffling : Yes Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0
Correct Marks : 1 Wrong Marks : 0

According to Socio-Economic Survey (2023), between 2018 and 2021, the share of Development Expenditure in the fotal

budget for Telangana was nearly which is the highest among the Indian States.

Options :

1 & 78.1%

Question Number : 94 Question Id : 630680223075 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0
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Options :
1.« 78.1%
2. % 63.2%

3 % 43.4%

4 % 37.9%



Question Number : 95 Question Id : 630680223076 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0

To avail of the benefits of the Kalyana Lakshmi/ Shaadi Mubarak scheme of Telangana state, a combined annual income

of her parents NOT exceeding are eligible for the Scheme.
Options :

1 % 1.5 lakhs per annum

5>« 12 lakhs per annum

3 % 2.5 lakhs per annum

4 % 33 lakhs per annum

Question Number : 95 Question Id : 630680223076 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 96 Question Id : 630680223077 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Correct Marks : 1 Wrong Marks : 0

Which of the following statement is NOT correct about Mission Kakatiya?
A. This scheme aims to restore all the minor irrigation tanks and lakes in Telangana State.
B. The Program was inaugurated on 12 March 2017 by the Hon’ble Chief Minister Sri K Chandrashekhar Rao.

C. The name ‘Mission Kakatiya’ is given in remembrance and tribute to the Kakatiya rulers who developed many dams
in Telangana state.

Options:

1 = OnlyA

2. % BothAandB

3.« BothBand C

4 % OnlyC

Question Number : 96 Question Id : 630680223077 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0
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Options :

| x A SIS

2 % A BA B Bodr
3 « B o08a C Bodky

4 % C ST(&D

Question Number : 97 Question Id : 630680223078 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0

According to the Economic Survey 2022-23, Telangana is ranked at which position among eight states which achieved
the Sustainable Development Goal (SDG) target to reduce Maternal Mortality Rate to less than 70 per lakh live births
by 20207

Options:

1. % Fourth

5> « Third



3. % Second

4. % First

Question Number : 97 Question Id : 630680223078 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Correct Marks : 1 Wrong Marks : 0

es0¥ 05 202223 (9500, 2020 38 re R dere Dendh o3 70 §oB) S8
Somod 08 ©DS5)0 0850 (DA OO B TS Boorn & T
G0G?

Options :

| % Q)

4]

2. NN
3. % [alelechy)

4. % S0CES

Question Number : 98 Question Id : 630680223079 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Correct Marks : 1 Wrong Marks : 0

What is the full form of TS-IPASS, which is introduced by the Telangana government to create an investor-friendly

environment in the State of Telangana?
Options:

1.



w Telangana State Industrialized Project Approval and Self-Certification System

5> « Telangana State Industrial Project Approval and Self-Certification System

3 % Telangana State Industrial Project Authorization and Self-Certification System

4 w Telangana State Industrial Project Approval and Self-Certification Structure

Question Number : 98 Question Id : 630680223079 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0

800 708 EPATHOH BEFORG TEHEETR) HIN0oBok B80T
92050 (DSINEN TSPASS T DVGE EF0 b3

Options :

Boome DO 20490088 (25 @SS ©06 E)1HGNIAG DP0 (Telangana State

1 % Industrialized Project Approval and Self-Certification System)

Boomres DO 204|000 (25 ersdd @0k Oy KT D
2 Industrial Project Approval and Self-Certification System)

25

O (Telangana State

Boorn 9O 20400 (725 sdBENS @0k DSy HINSIS DD (Telangana State

3 % Industrial Project Authorization and Self-Certification System)

Boome DO 204 VNS 72§ @THS ©of AT NS 19420 (Telangana State

4. % Industrial Project Approval and Self-Certification Structure)



Question Number : 99 Question Id : 630680223080 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Correct Marks : 1 Wrong Marks : 0

Consider the following pairs of ministers of Telangana state and the portfolio they hold as of March 2023. Which of the
following is paired INCORRECTLY?

Pair | Minister Portfolio

A | Chamakura MallaReddy | Labour & Employment, Factories
B | Patlolla Sabitha Indra Reddy | Education

C | SriPuwada Ajay Kumar | Forest & Environment and S&T, Endowments and Law

Options :

1 = OnlyA

2. % BothAandB

3 ¢ OnlyC

4. % BothAandC

Question Number : 99 Question Id : 630680223080 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1 % 3500 A

2 % A BA B Bodsr

3« 3900 C

4 % A 0BG C Dodar

Question Number : 100 Question Id : 630680223081 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Correct Marks : 1 Wrong Marks : 0

As of April 2023, who is the Minister of Home, Prisons, Fire Services of Telangana?

Options:

1 = Patlolla Sabitha Indra Reddy



2.« Mohammed Mahmood Ali

3 % Gangula Kamalakar

4. % Thanneeru Harish Rao

Question Number : 100 Question Id : 630680223081 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0

DO 2023 7838, Boome TR AT, 2R, @) I8 T HoE d?

Options :

_— HEE D 2o B

, v NTENG FRE @)
3 % ffofhe EerEd

4 x S FOD T

Question Number : 101 Question Id : 630680223082 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0



Arrange the rivers flowing through Telangana state as per their total length from longest to shortest?

A. Godavari River

B. Paleru River

C. Krishna River

D. Manjira River
Options :

| % AB.C.D

, % C.AB.D

5 % BLAC.D

4 v AC.D.B

Question Number : 101 Question Id : 630680223082 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0

& 1500 SQ0S 28 8 Fndo S N80, S &rdo hod $dns &rdo $8%
SO0 TR0 HOT [HeSer0od?

A o0 6
B. 8% &8
C. §aF

D. oo 36
Options :

1 % A B C D



5 % C, A B D

;% B, A C D

4 v A C D B

Question Number : 102 Question Id : 630680223083 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0

Which of the following statements is/are INCORRECT?

A. Telangana is separated from Chhattisgarh by the Godavari River.
B. Bhima is one of the prominent tributaries of Krishna River in Telangana.

C. Telangana has prominent perennial rivers such as Godavari in the north and the Krishna in the south.
Options :

1 « OnlyA

2. % BothAandB

3 % BothAandC

4. % BothBand C

Question Number : 102 Question Id : 630680223083 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0
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Options :
A ST

1.9

2 % A BA B Bodr

3 % A o08ain C Dodky

4 % B O3 € Bodr

Question Number : 103 Question Id : 630680223084 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Correct Marks : 1 Wrong Marks : 0

Match the district of Telangana state and the river, which flows through the district as per the details given below.

River District
A|Paleru River | | | Nizamabad
B| MusiRiver |2 | Nalgonda
C | Manjira River | 3 | Khammam

Options :

| % A-1,B-2,C-3

5 % A-3,B-1.C-2



3 v A3.B-2,C-1

Question Number : 103 Question Id : 630680223084 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Correct Marks : 1 Wrong Marks : 0
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Options :

1 % A1, B2, C-3

5 % A3, B-1, C-2

5 » A3, B2, C-1

4 % A-1, B3, C-2

Question Number : 104 Question Id : 630680223085 Option Shuffling : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction



Time: 0
Correct Marks : 1 Wrong Marks : 0

Arrange the following district of Telangana as per their area from largest to smallest.
A. Hanamkonda
B. Adilabad
C. Nirmal

D. Jagitial

Options :

1 v B.C.D.A

, % AD.B.C

5 % AB.C.D

4 % D.B.AC

Question Number : 104 Question Id : 630680223085 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1« B C D A

5 % A D B C

;% A B C D

4 % D, B A C

Question Number : 105 Question Id : 630680223086 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0

Match the CORRECT pair of event and year of occurrence of the event:

Pair | Event Year

A K Chandrasekhar Rao launched his Bharat Rashtra | 2022
Samiti (BRS) party by renaming the existing
Telangana Rashtra Samiti.

B K Chandrashekar Rao went for early assembly 2018

elections

C K Chandrashekar Rao was sworn in as the first chief | 2014

minister of the Telangana state.

Options:

1 % OnlyA

5« A/BandC



3. % BothCand B

4. % BothAand B

Question Number : 105 Question Id : 630680223086 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Correct Marks : 1 Wrong Marks : 0
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Options :

;% A SIS

> v A B, S08aiw C

3 % C 0O B Bodar



4 % A DB B Bocdhr

Question Number : 106 Question Id : 630680223087 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Correct Marks : 1 Wrong Marks : 0

Which of the following statements about the Telangana state is/are NOT correct?

A. Formed as the 26 State of India.
B. Telangana came into being on 2 June 2014.

C. The Telangana region was part of the Hyderabad state till 1956.

Options :
1 OnlyA

> % OnlyB

3 % BothAandB

4. % Neither A nor B

Question Number : 106 Question Id : 630680223087 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0
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Options:
| o A SIS
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3 % A o0OCA B Bodsr

4 % AT B B 5 o0 5D

Question Number : 107 Question Id : 630680223088 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Correct Marks : 1 Wrong Marks : 0

Arrange the following political parties of Telangana state as per their year of formation from oldest to newest.
A. All India Majlis-e-Ittehacul Muslimeen

B. Telangana Rashtra Samithi

C. Telugu Desam Party

D. Telangana Jana Samithi

Options:

1 % ABCD

, % B.A.C.D



5 v AC.B.D

4 % D.C.B.A

Question Number : 107 Question Id : 630680223088 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0

Boors U308 & (806 Tadad Fod ©) AE)AS HosB50 Do TS Sod
NOFS 56% @ndod.

A 89 20807 HBVBIBFNO SO0
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Options:

1 % A B C D
, % B, A C, D
5 A C B D

4% D, C B A

Question Number : 108 Question Id : 630680223089 Option Shuffling : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction



Time: 0
Correct Marks : 1 Wrong Marks : 0

Which of the following statements is/are correct about the Telangana assembly election 2018?

A. Telangana Rashtra Samithi won 98 seats.
B. Sri K Chandrashekhar Rao won from Gajwel Assembly constituency.

C. Sri A. Indrakaran Reddy won from Nirmal Assembly constituency.

Options :

1. % Both A and B

5  BothBand C

3 % Only A

Question Number : 108 Question Id : 630680223089 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0
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4 % BoFS

Question Number : 109 Question Id : 630680223090 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Correct Marks : 1 Wrong Marks : 0

Which of the following statements is INCORRECT?

A The Telangana region was part of the Hyderabad state from 17 September 1950,
B. “Agriculture Investment Support Scheme” (“Rythu Bandhu™) was proposed to be implemented from the year 2020-21.
C. The National Thermal Power Corporation (NTPC) is constructing Telangana Super Thermal Power Project (TSTEP).

Options :

1 = OnlyA

2 « BothAandB

3 % OnlyB

4. % BothBandC

Question Number : 109 Question Id : 630680223090 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0
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Options :

| % A SIS

2« A BA B Bodr
5 % B @D

4 % B 0O € Bodr

Question Number : 110 Question Id : 630680223091 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Correct Marks : 1 Wrong Marks : 0

Which of the following statements is/are INCORRECT?

A The state bird of Telangana is Palapitta.
B. The State Animal of Telangana is Blackbuck.
C. The emblem of Telangana is a circular seal consisting of the Kakatiya Kala Thoranam and Charminar.

D. Tangedu Flower was declared as the state follower of Telangana state.
Options:

1 % OnlyA

2 % BothAandB



3 « OnlyB

4. % Both Cand D

Question Number : 110 Question Id : 630680223091 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Correct Marks : 1 Wrong Marks : 0
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Options :

A ST

1_%5

2 % A 0BA B Bodr

3 o B ST(&D

4 % C s00Cw D Bodr

Question Number : 111 Question Id : 630680223092 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Correct Marks : 1 Wrong Marks : 0

Mohan, Raju, Renu, Nishi, and Priyanka are sitting in a circle facing away from the centre. Mohan and Raju are not
sitting together. Nishi and Priyanka are sitting immediately next to each other, and Raju is sitting to the immediate left
of Nishi.

Which of the following statement(s) is/are true based on the above conditions?

A) Mohan is sitting to the immediate left of Renu.

B) Nishi is sitting to the immediate right of Renu.

Options :

1« Aonly

> % Bonly

3 % BothAandB

4. % Neither Anor B

Question Number : 111 Question Id : 630680223092 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Correct Marks : 1 Wrong Marks : 0
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| v A SIS



, % B @D

3 % A BC B e Bodsy

4% A 50 S B 50 08 5760

Question Number : 112 Question Id : 630680223093 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0

Eight brothers, Aman, Binod, Chaman, Dev, Eshan, Faisal, Gautam and Hemant are sitting around a square table in such

away that four of them sit at four corners of the square while four sits in the middle of each of four sides. The one who

sits at four corners faces the centre while those who sit in the middle of the sides face outside. Aman who faces the

Centre sits third to the right of Faisal. Eshan, who faces Centre, is not an immediate neighbour of Faisal. Only one

person sits between Faisal and Gautam. Dev sits second to the right of Binod. Binod faces the centre. Chaman is not an

immediate neighbour of Aman.

Which of the following statement(s) is/are true based on the above conditions?

A) Chaman is sitting to the immediate right of Eshan.

B) Aman is sitting second to the left of Binod.

C) Gautam is sitting o the immediate right of Aman,
Options :

1 % Aonly

2 % AandB

3.« BandC

4. % AandC



Question Number : 112 Question Id : 630680223093 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0
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Options :
| x A SIS
2 % A 0O B

3« B 083w C

4 % A DBCW C



Question Number : 113 Question Id : 630680223094 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0

In a row of boys, Sundar is 13th from the left and Suresh is 23rd from the right. If they interchange their positions, then

Sundar becomes 18th from the left. Then at what position will Suresh be from the right?

Options:

1. % 24th
2.« 28th
3 % 27th

4. % 26th

Question Number : 113 Question Id : 630680223094 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0
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Options:
1 % 2429

2« 28

3 % 273



4 % 260

Question Number : 114 Question Id : 630680223095 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0

Subham studies different subjects namely Maths, Chemistry, Physics, Biology, Economics, English and History from

Monday to Sunday not necessarily in the same order. He studies History on Monday. He studies English two days after

he studies Maths. He studies Economics on Sunday. He studies Chemistry two days before Economics. He studies Math

three days before Chemistry, He studies Physics two days after History. On which day he studies Biology?
Options :

1« Saturday

5 % Sunday

3 % Monday

4 % Tuesday

Question Number : 114 Question Id : 630680223095 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0
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Options:

1 ¢ 4080

2 % OIS0

3 % b0

4 % oNlFIA0

Question Number : 115 Question Id : 630680223096 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Correct Marks : 1 Wrong Marks : 0

Akash’s school organizes 5 different tests namely Alpha, beta, gamma, delta and phi for five months from April to

August not necessarily in same order. Alpha is conducted three months before beta. Delta is conducted in month of

June. Gamma is conducted before Alpha. In which month will Phi be conducted?
Options :

| May

> % April



3« July

4 % August

Question Number : 115 Question Id : 630680223096 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0
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Options :

4 % OO

Question Number : 116 Question Id : 630680223097 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0



Two Statements are given followed by two conclusions numbered I and I1. Assuming the statements to be true, even if
they seem to be at variance with commonly known facts, decide which of the conclusions logically follow(s) from the

statements.

Statements:

Some banks are schools.
All schools are hospitals.
Conclusions:

1. Some banks are hospitals.
IL. All hospitals are schools.

Options :

1. ¢ Only I follows

5 % Only II follows

3. ® BothI and II follows

4. % Neither I nor II follows

Question Number : 116 Question Id : 630680223097 Option Shuffling : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 117 Question Id : 630680223098 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0



The following Venn diagram shows subjects selected by the number of students in a class. Find the number of students

who have selected only 2 subjects.

A
(5

Options :

g

Question Number : 117 Question Id : 630680223098 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Correct Marks : 1 Wrong Marks : 0
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Options :

1. % 52

2.¢ 44

3. % 36

4. % 50

Question Number : 118 Question Id : 630680223099 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Correct Marks : 1 Wrong Marks : 0

In the following number series, how many 8's are there which are immediately followed by a number which does not

divide it but is preceded by a number which divides it?
481838586534820684715878286

(Note- Each number is a one digit number)

Options :



Question Number : 118 Question Id : 630680223099 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0

& 1800 Nogrs 35S, ARy 8w, e BEE0 Bobd rAotA) Kok, Hiah T
008 2rfod Doz SO Hodrow?

4818385865348268471587828°6

(- 19ed Hops 2.8 @03 EORY Do)

Options :

Question Number : 119 Question Id : 630680223100 Option Shuffling : Yes Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0
Correct Marks : 1 Wrong Marks : 0

If C is taller than D, D is taller than G, F is taller than C. H is shorter than G but taller than E. Who among these is the
tallest?

Options :

Question Number : 119 Question Id : 630680223100 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Correct Marks : 1 Wrong Marks : 0

283¢ ¢ 98 D 500 YT GOT), D @O G $0T) FEHT Goinod, F &3O ¢ 0T
SFHT Gotnod. H @30 6 400 FEm Gotnod 50 E 0B SFEHT Gotn0d. eond
DB A eeseod FE)T GoEr?

Options:



Question Number : 120 Question Id : 630680223101 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0

The marks of six students, X, Y, Z, A, B, and C are given as follows: A scored more than C who scored second best,
Three students scored between Z and C.

Which of the following statement(s) is/are true based on the above conditions?

A) Z scored the highest.

B) X scored less than C.

C) B scored more than A.
Options :

1 = Aonly

2. % AandB

3 % BandC

4w Bonly

Question Number : 120 Question Id : 630680223101 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0
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Options:

;% A SIS

5 % A O3 B
3 % B o083 C

4 v B &S

Question Number : 121 Question Id : 630680223102 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Correct Marks : 1 Wrong Marks : 0

In a certain code language, 'IMP' is written as 'HILNOQ'".

Based on the given coding, match the following:

A. TAG | 1. SUDFMO
B. TIE 2. SUHIDF
C.TEN | 3. SUZBFH

Options :

| v A3:B-2:C-1



5 % A2:B-3:C-1

3 % A-2:B-1:C-3

4 % A-1:B-2:C-3

Question Number : 121 Question Id : 630680223102 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Correct Marks : 1 Wrong Marks : 0

AZR &6 7S, IMP @30 HILNOQ' T [5°C0G08.

200 §&of wrdor, & (8o o¢3Q 23608 08%:

A. TAG| 1. SUDFMO

B. TIE | 2. SUHJDF

C. TEN| 3. SUZBFH

Options:

1 v A3 B2 C-1

5 % A2 B3; C-1

3 % A2 B-1; C-3

4 % Al B2; C-3



Question Number : 122 Question Id : 630680223103 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Correct Marks : 1 Wrong Marks : 0

Ina coded language, the phrase "T am home" is written as "ka ba sa" and "My house" is written as"na ta! and "house is
home" s written as "na ka da! What is the code of word "is" in that language?

Options:

1. % na

2 % ka

3. v da

4. % 1a

Question Number : 122 Question Id : 630680223103 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Correct Marks : 1 Wrong Marks : 0

28 €5 S 1 am home' @3 HG2030 " ka ba sa' T B0 "My house” @RE) na ta' T

580 “house is home” @RE "ma ka da' T (DGR, @A &5 NS i ©F HTRE &

doned?

Options :

1. % Nna

2. % ka



3 « da

4. % ta

Question Number : 123 Question Id : 630680223104 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Correct Marks : 1 Wrong Marks : 0

Sneha travelled 3 km straight towards the south. She turned left and travelled 6 km straight, and then turned left and

travelled 3 km straight. Find the shortest distance between her and starting point?

Options :

1. % 8km

2 « 6km

3. % Skm

4. % 4km

Question Number : 123 Question Id : 630680223104 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Correct Marks : 1 Wrong Marks : 0

YT DT G880 3 3 km (DATE0N0A. &R D By SR 6 km I
OIS0, 82 e I)% B08 3 km NAirHood. eond e DB e g
08 e sl do @eie) Aro) SNk

Options :



1. % 8 Km

2.« 6 Km

3. % 5 Km

4. % 4 km

Question Number : 124 Question Id : 630680223105 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0

Select the option that is related to the third letter cluster in the same way as the second number-letter cluster is related to

the first letter cluster.

LOVE: [2N22D:: TALL:?

Options :

1. % 20Z221M

5>« 20Z12K

3 % 12MZ2

4 % 4Z14

Question Number : 124 Question Id : 630680223105 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Correct Marks : 1 Wrong Marks : 0
30ced Mowre8d dSTTo, FdE ©3 SIS 020H00Y AOOTE st ©fd
NRFERNE 0200000 donsD dotEod,

LOVE : 12N22D : : TALL : ?
Options :

1 % 20Z21M

5> v 20Z12K

3 % 12MZ2

4 % 4Z14

Question Number : 125 Question Id : 630680223106 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0

Consider the following pairs and choose the pair which matches the given relation.

Country Currency

A. India: Rupee

B. Japan: Taka

C. Bangladesh: Yen
D. Italy; Euro

Options :

1w Aonly

2.« AandD

3 % AB and D



4 % Bonly

Question Number : 125 Question Id : 630680223106 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0

& (800 208 HoiBodod NO 0N H0R0ETE AN 208D JotNTod.
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Options :
A ST
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2« A o08ain D

3 # A B 208G D

4 x B S@D

Question Number : 126 Question Id : 630680223107 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Correct Marks : 1 Wrong Marks : 0

The question below consists of a question and two statements numbered I and II given below it. You have to decide
whether the data provided in the statements are sufficient to answer the question. Read both statements and give an

answer.

Question: Which direction is Neha facing?
Statement I If Neha turns right, she will be facing West.

Statement IT: On, turning 45 degrees anti-clockwise, she will be facing South-East.

Options :

1. % Talone is sufficient while IT alone is not sufficient

2 % II alone is sufficient while I alone is not sufficient

3.« EACH statement AT ONE is sufficient

4. % Neither I nor IT is sufficient

Question Number : 126 Question Id : 630680223107 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 127 Question Id : 630680223108 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0

The question below consists of a question and two statements numbered I and II given below it. You have to decide
whether the data provided in the statements are sufficient to answer the question. Read both statements and give an

answer,
Question: Is A < B true?

Statement LA<M>H>B
Statement [ A<Z<B=M

Options :
1. % T alone is sufficient while IT alone is not sufficient
2 « Il alone is sufficient while I alone is not sufficient

3 » BothI'and II together are sufficient

4. % Neither I nor IT is sufficient



Question Number : 127 Question Id : 630680223108 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Correct Marks : 1 Wrong Marks : 0

8 139, BN 28 (%) HB TR @O | HBOW Il ©F Hop:od drdd Joch
80R0% SO Gotod. (A MrEN0 BIENE (HEGeS B0 dirardo
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DS LA SM>H>B
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Options :

;x| 25T HONHOGT Il 25T HBYED
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Question Number : 128 Question Id : 630680223109 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Correct Marks : 1 Wrong Marks : 0



In the question, a statement is given, followed by two conclusions, I and II. You have to consider the statement to be
true even If it seems to be at variance from commonly known facts. You have to decide which of the given conclusions,

if any, follows from the given statement.

Statement : Money plays a very important role in politics.
Conclusions
L. All rich businessmen are polificians.

IL. No poor man is a politician.

Options :

1 = Only I follows

> w Only II follows

3. ® BothI and II follows

4. + Neither I nor II follows

Question Number : 128 Question Id : 630680223109 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Correct Marks : 1 Wrong Marks : 0
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Options :
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Question Number : 129 Question Id : 630680223110 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0

The Bar graph shows the number of different types of electronics sold (in thousands) by a shop in the years 2021 and
2022. The quantity of Laptops sold in 2021 is what percent of the quantity of TV and AC sold in 2022 together?

12021 n 022
80 - 0 g
8 4
1]
T WA 66
§ 0
3 84
"]
£nl % 4
£ o »
. 40
g 2%
30 4
; 0
2 04
10 4
U 4
W AC Gayser Laptop Refrigerator
Appliancessold
Options:

1 % 20%



5>« 30%

4 % 33%

Question Number : 129 Question Id : 630680223110 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0
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Options :

1 % 20%



5>« 30%

3 % 25%

4 % 33%

Question Number : 130 Question Id : 630680223111 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Correct Marks : 1 Wrong Marks : 0

The following pie-chart shows the population of villages in Bihar. If the population of village N is 54,000, then what is
the population of village 07

Population (in percent)

Options :

| = 40.000

5 % 55,000

3 v 60.000



4 % 50.000

Question Number : 130 Question Id : 630680223111 Option Shuffling : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Correct Marks : 1 Wrong Marks : 0

& (800 0 DFESR [Mire T SrYR0d. N oF (T e 54000 HONS, 0
OF [T 272 J0?

Population (in percent)

Population (in percent) - 2300 (Fa“’efaO@G )
Options :
1. % 40,000

5 % 55,000

3 60,000



4 % 50,000

Question Number : 131 Question Id : 630680223112 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Correct Marks : 1 Wrong Marks : 0

Fill in the blank with the most appropriate option.

That is why feeling that you have deliberately caused injury to someone upsets you so much.

Options :

2 % an

3.« the

4. % that

Question Number : 131 Question Id : 630680223112 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0

Fill in the blank with the most appropriate option.

That is why feeling that you have deliberately caused injury to someone upsets you so much.

Options :



% dan

3 « the

4. % that

Question Number : 132 Question Id : 630680223113 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Correct Marks : 1 Wrong Marks : 0

Fill in the blank with the most appropriate Definite or Indefinite Article.

Let me give you honest advice, never give your opinion unless it is asked for.

Options:

2. % some

3 % the

4. an

Question Number : 132 Question Id : 630680223113 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0

Fill in the blank with the most appropriate Definite or Indefinite Article.
Let me give you honest advice, never give your opinion unless it is asked for.



Options :

2. % some

3 % the

4. an

Question Number : 133 Question Id : 630680223114 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0

Fill in the blank with the most appropriate option.

The so-called Brahmin before him might be Yudhishthir himself.
Options:

1. % somewhat

5>  actually

3 % however

4 % Dberhaps

Question Number : 133 Question Id : 630680223114 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Correct Marks : 1 Wrong Marks : 0
Fill in the blank with the most appropriate option.

The so-called Brahmin before him might be Yudhishthir himself.

Options :

1. % somewhat

5  actually

3. % however

4 % berhaps

Question Number : 134 Question Id : 630680223115 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Correct Marks : 1 Wrong Marks : 0

Fill in the blank with the most appropriate option.

Thimayya had harboured misgivings about Chinese motives and infentions.
Options :

1 « always

> % regularly

3. % before

4 w despite



Question Number : 134 Question Id : 630680223115 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0

Fill in the blank with the most appropriate option.

Thimayya had harboured misgivings about Chinese motives and intentions.
Options :

1 o always

> w Tegularly

3. % before

4 % despite

Question Number : 135 Question Id : 630680223116 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0

Which of these statements has a grammatical error?
Statement A: The sun will set slow over the tranquil lake, casting a warm golden glow on the surrounding trees.
Statement B: Nearby, a gentle breeze rustled the leaves, creates a peaceful melody that echoed through the serene

landscape.
Options:
1 = OnlyA

> % OnlyB

3 « BothAandB



4. % Neither A nor B

Question Number : 135 Question Id : 630680223116 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Correct Marks : 1 Wrong Marks : 0

Which of these statements has a grammatical error?

Statement A: The sun will set slow over the tranquil lake, casting a warm golden glow on the surrounding trees.

Statement B: Nearby, a gentle breeze rustled the leaves, creates a peaceful melody that echoed through the serene

landscape.

Options :

1 = OnlyA

> % OnlyB

3.« BothAandB

4. % Neither A nor B

Question Number : 136 Question Id : 630680223117 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0

Which of these statements has a grammatical error?

Statement A: Although she had been dubious about the efficacy of the proposed strategy, the subsequent success it
garnered left her in a state of pleasant astonishment.

Statement B: Notwithstanding the challenges they faced, the team persevered and ultimately accomplished their

objective, which was no small feat given the circumstances.



Options :

1 % OnlyA

> % OnlyB

3. % BothAandB

4.« Neither Anor B

Question Number : 136 Question Id : 630680223117 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0

Which of these statements has a grammatical error?

Statement A: Although she had been dubious about the efficacy of the proposed strategy, the subsequent success it
garnered left her in a state of pleasant astonishment,

Statement B: Notwithstanding the challenges they faced, the team persevered and ultimately accomplished their

objective, which was no small feat given the circumstances.
Options:

1 % OnlyA

> % OnlyB

3. % BothAandB

4.+ Neither Anor B



Question Number : 137 Question Id : 630680223118 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0

Which of these statements has a grammatical error?

Statement A: During lunch break, students gather in the courtyard, sharing stories and laughter under the warm sun.
Statement B: After school, the sound of footsteps and chattering filled the hallways as clubs and study groups convened
for their meetings.

Options :

1 « OnlyA

> % OnlyB

3 % BothAandB

4. % Neither Anor B

Question Number : 137 Question Id : 630680223118 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0

Which of these statements has a grammatical error?

Statement A: During lunch break, students gather in the courtyard, sharing stories and laughter under the warm sun.
Statement B: After school, the sound of footsteps and chattering filled the hallways as clubs and study groups convened
for their meetings.

Options:

1 « OnlyA

> % OnlyB



3. % BothAandB

4. % Neither A nor B

Question Number : 138 Question Id : 630680223119 Option Shuffling : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0
Correct Marks : 1 Wrong Marks : 0

Which of these statements has a grammatical error?
Statement A: The aroma of freshly brewed coffee filled the air as the city slowly came to life in the early morning houss,
Statement B: Passerbys greeted one another with friendly smiles, creating a sense of community in the bustling

metropolis.
Statement C: As the day progressed, the streets became increasingly vibrant, reflecting the unique character and charm

of the city.
Options :

1 = OnlyA

5 « OnlyB

3 % OnlyC

4 % Neither A, Bnor C

Question Number : 138 Question Id : 630680223119 Option Shuffling : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0



Which of these statements has a grammatical error?

Statement A: The aroma of freshly brewed coffee filled the air as the city slowly came to life in the early morning houss,
Statement B: Passerbys greeted one another with friendly smiles, creating a sense of community in the bustling
metropolis.

Statement C: As the day progressed, the streets became increasingly vibrant, reflecting the unique character and charm

of the city.

Options :

1 = OnlyA

> « OnlyB

3 % OnlyC

4 % Neither A, B nor C

Question Number : 139 Question Id : 630680223120 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0
Correct Marks : 1 Wrong Marks : 0

How many of these statements has a grammatical error?

Statement A: It's a beautiful day outside, is it?

Statement B: You've finished the project, haven't you?

Statement C: They're going to the concert tonight, aren't them?
Options :
1. % One

2.« Two

3. % Three



4. % None

Question Number : 139 Question Id : 630680223120 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Correct Marks : 1 Wrong Marks : 0

How many of these statements has a grammatical error?
Statement A: It's a beautiful day outside, is it?
Statement B: You've finished the project, haven't you?

Statement C: They're going to the concert tonight, aren't them?

Options :

1. % One

2.« Two

3. % Three

4. ¥ None

Question Number : 140 Question Id : 630680223121 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0

Fill in the blank with the most appropriate option.

We all are not pawns in the hands of time, we?

Options :

1. % have



2 % aren't

3. o are

4. % can't

Question Number : 140 Question Id : 630680223121 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Correct Marks : 1 Wrong Marks : 0

Fill in the blank with the most appropriate option.

We all are not pawns in the hands of time, we?

Options :

1. # have

2 % aren't

3. o are

4. % can't

Question Number : 141 Question Id : 630680223122 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0



From the options choose the correct passive voice form for the sentence given below.

Wives did not usually accompany kings on their journeys.

Options :

1 % The kings are usually never accompanied by their wives on their journeys.

5>  Ontheir journeys, the kings were usually not accompanied by their wives.

3 % Ontheir journeys, wives did not accompany kings.

4. % On their journeys, the kings were never accompanied by their wives.

Question Number : 141 Question Id : 630680223122 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Correct Marks : 1 Wrong Marks : 0

From the options choose the correct passive voice form for the sentence given below.

Wives did not usually accompany kings on their journeys.

Options :

1 % The kings are usually never accompanied by their wives on their journeys.
> « Ontheir journeys, the kings were usually not accompanied by their wives.

3 % On their journeys, wives did not accompany kings.

4. % On their journeys, the kings were never accompanied by their wives.

Question Number : 142 Question Id : 630680223123 Option Shuffling : Yes Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0
Correct Marks : 1 Wrong Marks : 0

From the options choose the correct active voice form for the sentence given below.

The thoughts in her mind didn’t match the words she spoke is what she realised.
Options :

1 % The words she spoke didn’t match the thoughts in her mind, is what she realised.

> w Her words didn't match her thoughts.

3 % Her thoughts do not match her words.

4.« She realised that the words she spoke didn’t match the thoughts in her mind.

Question Number : 142 Question Id : 630680223123 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0

From the options choose the correct active voice form for the sentence given below.

The thoughts in her mind didn’t match the words she spoke is what she realised.
Options :

1 % The words she spoke didn’t match the thoughts in her mind, is what she realised.
> w Her words didn't match her thoughts.

3 % Her thoughts do not match her words.

4.« She realised that the words she spoke didn’t match the thoughts in her mind.



Question Number : 143 Question Id : 630680223124 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0

Which of these 4 pairs of idioms and their meanings is the correct match?

Options :

1 = Don'tlook a gift horse in the mouth: Avoid doing senseless task

> % Biting the bullet: Don’t be overly cautious

3 % Throw in the towel: Being shy

4 Breaka leg: Wishing someone good luck

Question Number : 143 Question Id : 630680223124 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Correct Marks : 1 Wrong Marks : 0

Which of these 4 pairs of idioms and their meanings is the correct match?

Options:

1 % Don'tlook a gift horse in the mouth: Avoid doing senseless task

- % Biting the bullet: Don’t be overly cautious

3 % Throw in the towel: Being shy



4 Breaka leg: Wishing someone good luck

Question Number : 144 Question Id : 630680223125 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0

Select the most appropriate meaning of the proverb given below.

"Easy come, easy go"
Options :

1 = Ifyou associate with bad or dishonest people, bad will happen to you.

> % Be patient, things take time to happen.

3 When something is easily obtained, it is typically lost just as easily.

4 % You cannot change the past.

Question Number : 144 Question Id : 630680223125 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0

Select the most appropriate meaning of the proverb given below.

"Easy come, easy go"
Options :

1 % Ifyou associate with bad or dishonest people, bad will happen to you.

> % Be patient, things take time to happen.



3.« When something is easily obtained, it is typically lost just as easily.

4 % You cannot change the past.

Question Number : 145 Question Id : 630680223126 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0

Match the following words with their respective antonym.

A. Evidence | l.Rigid

B. Material 2. Typical

C. Malleable | 3. Spiritual

D. Rare 4. Concealment
Options:

| % A-1,B-4,C-3,D-2

5, v A-4,B-3,C-1,D2

3 % A-2.B-4,C-3,D-l

4 % A-4,B-3,C-2,D-l

Question Number : 145 Question Id : 630680223126 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0



Match the following words with their respective antonym.

A. Evidence | I.Rigid

B. Material | 2. Typical

C. Malleable | 3. Spiritual

D. Rare 4. Concealment
Options :

| % A-1.B-4.C-3,D-2

5 w A-4.B-3.C-1,D-2

4 % A-4,B-3.C-2,D-l

Question Number : 146 Question Id : 630680223127 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Correct Marks : 1 Wrong Marks : 0

Select the most appropriate synonym of the given word.

Acquaintance

Options :

1. % Antagonist

2. % Detractor

3. % Contender

4.« Assoclate



Question Number : 146 Question Id : 630680223127 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0

Select the most appropriate synonym of the given word.

Acquaintance
Options :

1 % Antagonist

2 # Detractor

3. % Contender

4.« Assoclate

Question Number : 147 Question Id : 630680223128 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Correct Marks : 1 Wrong Marks : 0

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.

Options:
1.« NOTICEABLE

2. % POTATOS

3 % REPITITION



4 % VISIOUS

Question Number : 147 Question Id : 630680223128 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Correct Marks : 1 Wrong Marks : 0

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.

Options :

1.+ NOTICEAELE

> % POTATOS

3 % REPITITION

4 % VISIOUS

Question Number : 148 Question Id : 630680223129 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0

Four words are given, out of which three words are spelt correctly. Choose the incorrectly spelt word.

Options :

1 % READABLE

, % QUESTIONNAIRE



3 v VACCUM

4 % PRIVILEGE

Question Number : 148 Question Id : 630680223129 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Correct Marks : 1 Wrong Marks : 0

Four words are given, out of which three words are spelt correctly. Choose the incorrectly spelt word.

Options:

1. % READABIE

, % QUESTIONNAIRE

3 « VACCUM

4 % PRIVILEGE

Question Number : 149 Question Id : 630680223130 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0

Fill in the blank with the most appropriate option.

But deep down, though no one would admit it, we were a little restless, a little

Options :

1.« bored



2. % broad

3 % board

4. % brood

Question Number : 149 Question Id : 630680223130 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0

Fill in the blank with the most appropriate option.

But deep down, though no one would admit it, we were a little restless, a little

Options:

1.« bored

2. % broad

3 % board

4. % brood

Question Number : 150 Question Id : 630680223131 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0

Fill in the blank with the most appropriate option.

I was too to make sense of any of it.



Options :

1 = days

5 w daisy

3 % dazzled

4.« dazed

Question Number : 150 Question Id : 630680223131 Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 1 Wrong Marks : 0

Fill in the blank with the most appropriate option.

I was too to make sense of any of it.
Options:

1 = days

5 % daisy

3 % dazzled

4.« dazed



